
���������������������������������������������������������������������������������������� �
���������������������������������������������������������������������������������������� �

������������������������������������������������������������������������������������������������������������������� �
� �
� �
� �
� �
� �
� �

���� ���� �

�א������������
�2ClCHא��������א����������ل�������د COOH−�������א���� �2 1

0C 5,0 10 mol.L− −= ×�
1286 "�و mS.m−�K� �
1M ن�א�()��'�&%� �م���+���،-��
�א���������/.�א����
 ��K�(�0/�1د��� )��'�������د

2M ل��א�2�345א��)� ���K"�1א�9א����א������א������7�8��6א
د�א

3M :/�'���+���;)�)<א�pH��7�8ل�و��"<��א�(=4م�א����א��fτ�K 

4M א�(�אزن��@A�B�3
 �Eא�9����א�����א��fC�F)+���1"���GBF�KfC��7�8و��0Cא��א��CE�()��'�א��D+����7א�"��K�����4A�CAو��45<�

5M ����� �R(��4���Kد
��5אQ�א
��F��3,5�3"�و
��pH�P+��ل�Oذא���L>Mא�����J��/1C��K+��א�9����א

ST0�W�
3

2 1

H O
0,035 S.m .mol+

−λ ؛����=
2

2 1

ClCH COO
0,004 S.m .mol−

−
−

λ =K� 

���� � �
�3
��E�Kא����F �������/�4א�����א�8D��K��7�Aא�Xو
�1�E–א�F�'D6א�8D����7�Aא�<�����C=W�2א�4א �

I� J ��0Z�=א�K����)(/�K�[א� �)א��G����J��/Ru�،Luو��ACu�K 

II� J ��0Z�=א��C�\�K��]P��2א�t 0=�K� �
1� J �:���>̂�BCu�����4ARو��i�K� �
2� J �:���>̂�ABu�����4AL،rو��i�����4A�GBL،R�،rو��BCu�K� �
3� J ���4A����_�()�0د���א��)��و�45א )i t�K� �
4� J �'D6א��:/��=A�"א������0د���א�()�_�)��'�א ) kti t Ae B−= +�K 

�3
�>��1)��( )i t�����4AL،R�،rو��EK 

5� J �3
)א>(�(;��<� )i t�G7�2א��[�م�א�4א�K� �
6� J �3
)�A>(0+�ل��<� )i t�:/�'��3
)،��و��45<� )ABu tو��( )BCu t�K� �
7� J �]Q�'��2�F���:�̂A�( ) ( )AB BCu t u t E+ =�K� �
8� J �2�`��+��אز�א�<���`�א)Jא��G<א
�S���4J�6�F�'D6�2–א��KE� �

��Lb+��������A�45و�Eو��τ�K� �
c�L��+���45و�iن����+���G7�2�3א��[�م�א�4א

��2א�4א��Rא 50Ω=�K� �
K5�L�:/�'���+���;)�)<אrو��LK�� �

� �
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 .عالج أحد الموضوعين على الخيار : 0
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���� � �
�1�M�G"5( )S��F)�)�m 10kg=�d�D)4ون�א�A�C������
�"�)���Sא )ABCD��2��+�F�'D6�3–א��Ee���W� �

- AB���=Efא�g�)"�
�/"(=��h�G'��:�א�"/ 

�אو���A30α = °�F��Zو��AB 40m=  �K 

- BC��=Eو���G�=)"/�
�"/�K 

- CD���J�T��ij��3�7دא�.A
rK 

)��T��Cא�G"k  ))))    أأأأ(((( )S���T=א���:/A���74א)Aא����4ون�>AK� �
1� J G"kא����T��� �C�>T)A�Kא�=���ن�א���������� :،���"�1 "�
ع�/��

2� J ����/�)��(�1א��0د���א� )x f t=��G"kא����Q( )S��S��ABق�nTא����]Q���/زf��4א>/�
�>)��AK 

3� J ���"���1+��א�"���Bv��T=�4א�����BK 

4� J �G"kא�������0�>Z��J��/( )S��`)T=א���`ABو�C�K 

)�j'�א�G"k  ))))    بببب(((( )S��T=א���oOD�����"��ADv 15m/s=K 

1� J ��+���1"��r�

�א�4א7��"� T��ij��K��א

2� J ��+p�34א�=��3א���q�1"���NR
�

��G"kא�S���C��T��8א�=>T��bא�( )S���T=�4א����D�F 
 �CD�K<'�/\�د

3� J �G"kא������iM( )S�F 
 �40ACD�K/\�د

ST0��W�2g 10m/s=K 

���� � �
�����/�

�دא7��"/�S�ض��
fא�d�P) �،�"+6א��
����)�2א�0��Gא )S����T��ijو���R+6א�����/11r 1,498 10 m= ×�K� �
��J�
ض�ذא]�Dq'���و
��(�(��8/�ز���p��)A����ل�/��fن�א��s)0�( )Tل��nt�34�3وא�
��دوu� ��8365,24و��� jours�K� �

1� J ض
fא�S���R+6א��v�Z�:/��=>T�
�3א�=��3א�>��w���K 

2� J ض�
fא�����3>
 SM�Kو��(���א�G�R+6و�A�B@�א�cxkא��0م���C�>T)Av�����4Arא�=���ن�א���������� :،��و��45<�

3� J �
 SM�Kو�T�����4Ar�،Gא>(�(;��<�
�3א�4و

4� J R+6א����א>(�(;��(SM�K 

5� J �3
�>��:/���nTא�TC=y���>�D��eن�א�=���ن�א������:�̂A�،�K 

ST0�W�11G 6,67 10 S.I−= ×K� 

���� � �
�s)0�( )g 10 S.I=�K� �

�`>�
�4E���J–א�D���KAF�'D6:�א�9���1א�yאن���ل�
����eא�<D�8/�3+���א�D(���و����3א�4و �
��K 8+'��'�א��(�K[���DאEf=�،�א}��w/8+'�א�D(���و���G�4א�/(�Tط �


�אk"+�ن��|( )S����)Dذو�א�mو��( )S′����)Dذو�א�m′��4�����74א)Aא����4ون�>A� �
��]P�א��t 0=�K� �
1E ���_
fא���Aذ�kع�א
�" ����4A����Qع�א
�m�+ً���ن���2nא��Dن�و���gد
س�Z<����0����אk+���و��̂<���:� "� n.m′ =�F�
�

 /�m�KE��m′��KA�s��n�:/�3ن�

2E ��Jxt� ��1ن���bא�=�+��א���J��/n�����<���> �S)�( )Sو��( )S′���+�=3,75א� m/s���]P��4א���t 0,5 s=؟� 
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���� ���� �
�Gu�����4�0V 80 mL=ل����y�:/0S��F)\�Mم�����/fא�
��D�( ) ( )( )4 aq aq

NH Cl+ −+������� 3 1

0C 10 mol.L− −=�K� �
1� J س����pH���+�=א���T0ل����א�א�xJ5,2�K� �

��L-��
د�3אf/����م�/.�א�q�'(�0/�1د��� )�����K� �
c�L���:��3

د�3אf/����م��<��q�Ki�0_����F���:�̂A�K� �
K5�L�_�+Qא�@A�B�3
�>��w���aK����7�����Fس�<�L���Eم����/fد�3א
�q��8��O��+)� �bא��K� �
��Kو� �����א����`�אf>�س�و�אQ+��א�D6�`���������7א�"�����4AapK��=Aא�pH��Kא>(�(;��<�
�3א��L�Kد �

KJ�L�Kن�א����+��apK�
��א��������7"�وx�9,2�K�>"و���45+��א����[ ]
 
 

������ 

  �� 
�K؟�������'�h�
x��7א���+�Dא���ع�א���J��/� �

2� J �K��i���0S��Gu�1V 20mL=����y�:/3��ل�א��jدא� ��� 1

1C 10 mol.L− −=�K� �
��L����K�(�0/�1د���א�()��'�א�Qد �

c�Lא�(�אزن��@A�B�3
�x��Kא�א�()��'�����4A �א�����(��iא��fאع�א��D+���4�����7א�(�אزنא��אK��CEא>(�(;��<� �

K5�Lن���:�̂AK�'D6��A�F)A�)��:Dh�Wa

e

K
K

K
=F�KeK�-�+���
�Eא4kא-�א��6
د �

�epK�+���ن���L��+���1"��Kد 14=�K� �
KJ�Lض��ن�א�()��'� �م�(A�K�K���1+��א�"��pH���7�8א��K�� �

� �
� �

� �

���� ���� �
�d����/fא�F�
��K&�ز���4����T0א�2�F�nWא��-�y������E3NH���<�<א���6د �

�/����Jאf>�س��"A�1�و�"(4؟��–1° �
�6
�(`��2א�()��'��L>�س���W�(�0/�1د���אnWل�xJא�א�\�ز��2א��-�/<����א�����7(`�–2°������Kא �
3°–�������א���� �
y2��ل��\�ز�א���6د 1

bC 10 mol.L− ����،1���F)א����������4א�(�אزن�=−

éq 10,9mS.m−σ =��5
�4��25א�4 C°�K 

�� L� �א������ �א������� :�� �>̂�éqσ�� ������א ��א�9א�� ���4Aא�(�אزن�� 4��� d����/fא� ]���ل ]i éq
X��[���א����� �و F�E� 3�_�Qא� ���6א
د

������א�������א
iXλد
��א��6אx��K� �

c�L�7�8א���������8��E+'�א�()��Dא��6
د
���+�-�E�����F�K�אد�א��D+�����7א�(�אy�2�345��ل�א�4���d����/fא�(�אزن��"�1א�9א����א �
K5�Lא�(�אزن��@A�B�3
�>��1)��K�-����K()��'�אnWل�&�ز�א���6د
��2א �
�4����aK����7א�"��CAو�A�B@�א�K���_�+Qو�45א�A�B�`A���n0@�א�(�אزن��Lد 3NH / NH+�K�1"��aK��Kوא>(�(;���+��א�apK�K� �

4°–�� 3���0/�C=WpH–�� �
4��GuQ� ��9/bV 20mL=ل����y�:/3NH�� -���א 
)א�"��A�CAא>y��T��ل������� )3H O Cl+ −+�
������א���� 2 1

aC 2 10 mol.L− −= ×�K� �
��L����K�(�1א��0د���א��D+�����7א��+���5x�()��'�א�Qد �

c�L�GuQא��J��/aEV؟���E�D)�4א����-���א���y�:/�v��ل�������
�א �
K5�L�Gu���E�_O�4���F���:�̂AaV 5mL=��L>j��d����/fل�א����-����;�/"�و���א�=�+��y�:/pH��ل�������
�א�9,2א  �K� �
ST0��W�5
�4��25א�4 C°�W14

eK 2 ؛��=−10 1

HO
19,2 mS.m .mol−

−λ ؛�=
4

2 1

NH
7,4 mS.m .mol+

−λ =  K� 

)0 ( 

 

)0 ( 



���� � �
�2����>/��J��+����7�A�8Dא���M��0א��'�M�)A�x�/n)م����4א��=���(�D/����( و�:Pq����+���<א
،������e.��و�،�����1–א�D6'�א�D6'�א�D6'�א�D6'����4د

2��2�=���GB����0/�34��oO�،����B��8א��_.���21א��_.��Kא�<�د����ST0������2�K–א�D6'�א�D6'�א�D6'�א���'jP)�E�'D6��Sא�<��ن�א �
� �� �� �� �
� �� �� �� �
� �� �� �� �
� �� �� �� �
� �� �� �� �
� �� �� �� �

I� J :P6א�����א>���+
�Wد �
1� J �/ ؟:P6����8��2א���(�D� ����J+��א�(� ��Z�`A��2א

2� J �� �)א�����.���bא������0د���א�()�_� Z�`AK��2א�nt��(�Dل�א��Cu�:P6و�45א

3� J 'D6א��:/��=A�"א������0د���א�()�_�)��W'�א )
t

Cu t E 1 e
−

τ
 

= − 
 

،��@A�3א���
 �τ�F)+���1"���GB�Kو��45<�

4� J ��0"���1+��א�"��Cن�����+����(�D+��1R 40= Ω�K� �
II� J ���()א�����א>���+
�Wد �

1� J �8�E�
����K/�'�دא
�3א�()����و�4د���85א�(��
�א �
2� J �� �)א�����.���bא������0د���א�()�_� Z�`A�K��2א�nt��(�Dل�א�()�����Cuو�45א

3� J �.��R.Cτ =�K�3
)�=��Cن�א�0<� )
t

Cu t E.e
−

τ=��=A�"א������0د���א�()�_+���n��'���K 

4� J ��/و�=� ��2R�K"���1+��א

���� � �
���)��:/���D���D�/���ن���D) 1m 150g=�����B���)�و���=Eو�����Z�S������Q��8א�Dh�2m 100g=���+�E�` 46ود/�`)�)Dא��e��

8��A+�y�S����h�،ط�T)/א��G�4و����)D8+'�א�/�w�t��T<א�A�����+�،@Aא�����=Efא��J
�yאن���ل�
DA�8/�3+���א�)D�����8��D/�Aא�4و
'A�=����J�K/<`��2א�D6'�א �

�s)0�2g 10m.s−=��3����E�D و����Tא��S���d�D)א���g�����jyو���34و�f
�

�،�A�B(��א��346 �
���Q��8אk��"��0/و��K� �

1- �g�=א��.���'�/���Qل�אntא��[�م��S���3�B���Kא �
�3 "�
ع������א��[�م -2
 �C�>T)AKא�=���ن�א���������� :��و��45<�

3- �d�D)א>(�(;���+�����3א��f
�

�K 

4- ���)D���'/�Qא�w�{א�v�Z�.T=��2m���]P��2�3א��uE1t�K�'�h�1–א�<��ن��'�h��+��A�:/������2–א�<��ن \%א]� "�
�����4A��8א�
w�{ع�א�T=א��'>�����Qא�:/�oوfא�����+���:/� K \%א]�>��(����4A��8א�

��L���/����4ز>/�w�{ع�א�T=א���]Q�
�>)��A( )t 0=��._�/�'Mא�(2و/<��4א�m����)Dא�����"�����/��2 ���א��P[�،���(�1א��0د���א�
( )v t���8)��Q����/�)وא��0د���א� )y tK� �
c�Lא�<��ن��G<
�'+���GB��A�5א����
)��='���wTא�"�������Sو )v f t=����Qא�������/:�א�����+���K� �

� �

) 5 ( 

1R

2R

E

+

−

CCu

K

1 2

) 5 ( 
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���� � �
��]P�א��R(��4��t )،��=5�vx"+�ن��=��Tن�=0 )aو��( )b��`0_��<�R(�A��+8���0q�0av���bא�=O′�vxو��O/:�א

0bvو���
��

�0�j�45αن��)�Rزאو���א��/�� = °�CEfא�./�K�CE�������א�D6'�א �
1E �
�y�'D���>"���A��(�x��'�������w="/��0�>Z��/ 

�:�
)/:�א�� )Oxو��( )Oy؟� 

2E �:���(�x��'��F\�> �����s���'D6א��:/�;)�)<א� �
�T=א���:/�
����O�Kא�"(��gאEf=��א �

3E �vx=א��b��<�b+���:�̂�0av0و�bv�K 

4E 
��`Eوx=�

�אk"+`�א�"/�b�0/�1د�)���W 

( )ay f x=و��( )by g x=�G�0�)�2א )xOyK� 

5E ._�+����=Eא���A�:�̂Axن�א�"���Eא�j( �b'�א�(P��nt��)A�B�'] �`ل�א��34א�)�M���Q�`A[��א�=�vxو�א��P[��א 40 m=K�� 

 

���� � �
�R+6א����)����
�=/�:/�R+6ض���ل�א�
fא����ض�و��
fل�א��������TMא��
�+�fא�������E�0/�:D�Smض�
fא���)DATmK� �

[��T0��Wא �
F)�)��،ض
����>"���A�����<������TMא�א�+��s)0��Km��J��_
fא�
������א�4א7�
��2א��5.�א
�"/��T��ij�4و��r 4,22 10 km= ×K� �

�Jض�
fل�א�������TMא���א�=+����Q�

��KTKא�4و
�א�4א �
�J��"+6א��
����
ض���ل�א��2�R+6א��5.�אfא����Q�

�K�TTא�4و
�א�4א 365,25 jours=K� �

�K�J�R+6ض���ل�א�
fא����/����Q�

�א�4א7��"�T��ij��8��א

Tr 1,496 10 km= ×K� �
�J��T=א���J
�yض���ل�
fאن�א
�K�0Tدو
�دو 24 heures=K� �

�KA��/���KG����.ز�� ��+��R+6ض�و�א�
fא�:/�n�ن���s)0و������Dא��0م�א��cxkא�@A�����)D�����B�K�S���g�tfא��1א�Dא��%B� �'+8�
����TMא���ض�و�א�=+
fא�:/�'�K� �

1� J 

_��و�א>(�(;��<�
�3א�4وfא�
���� rKو�Tmو�AT����4A�Ĝ�:��ن������א�=+��א������TMدא7����/�([+���2א��5.�א

2� J ��n0��Aض�
fل�א�������TMא���א�=+����Q��>"���A���>�D��eא�=���ن�א�����:��s0��W
2

3

T
K

r
=�e���K�@A�B�K 

3
 TmKو���K�����4AGو��45<�

3� J ��>"�3א��
�Sو��45<�

T

m

m
�����4Arو��Trو��TTو�T�K�8)+���1"���K� �

� �

) 5 ( 

x( m ) 

y( m ) 

10 

20 

60 40 

30 

40 
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���� ���� �
[��T0���Wא �

�\�jא�� ��K�������)AH��KAא�D(���א )g.mol� �
apK� �

HCOOH / HCOO−�� �46 3,75 

3 3H C COOH / H C COO−− −� �60 4,75 
 

3 3HN / N −� �43 4,72 

5 2 5 2H C COOH / H C COO−− −� �74 4,87 

HClO / ClO−� �52,5 7,3 

• @A�4�4א�����apK����7����F���–س��<�E�W� �
�@Aض���4�4א����\AapK����7����F���–س��<�E�/���A�����/���bو�א��،( )AH / A−س���=Aم��=��،pH��
���b���7א���א����'�א

��א����AH�،A−���7א�)�د�:�x��`=Eא��)�"(�4م�y�����Kא )1Sא���ع���
�)|A−�����9A1C 0,1 mol / L=�����yو�( )2S��
�)|
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